’N»’CTA POé I e A L M A Référence: P912644

Poéle a bois
ALMA

Référence P912644

XD, le 07/12/2021 WWW_pieces-de-poele.Com



’N»’CTA POé I e A L M A Référence: P912644

Code 1

XD, le 07/12/2021 WWW. pieces_de_poe|e_com Page 5/ 18



lN\/lc TA

XD, le 07/12/2021

Poéle ALMA

Rep Nbr | Désignation Référence
1 4 TIRANT AS610116
2 1 MENTONNET AS610199
3 2 BOUTON AS610302
4 3 CLAMS AS700180
5 2 REGISTRE AIR AT610155
6 1 CENDRIER AT620366
7 4 RONDELLE M M06 BRUT AV4100060
8 8 RONDELLE L M6 BRUT AV4110060
9 2 GOUPILLE CANNELEE 5X30 AV6305300
10 4 ECROU FREIN M6 AV7040060
11 2 ECROU BORGNE M6 BRUT AV7140060
12 6 ECROU EMBASE M6 BRUT AV7220060
13 2 VIS TH M6X35 BRUT AV8406350
14 2 VIS FHC M6X25 INOX AV8636256
15 2 VIS FHC M6X35 BRUT AV8636350
16 3 VIS TCPZ M4X6 ZN AV8644067
17 1 VIS GOUJON 6X8 AV8706080
18 2 VIS GOUJON 6X30 AV8706300
19 1 VITRE AX912644
20 1 POIGNEE F610185
21 1 SOCLE F612614
22 1 FACADE F612615
23 1 GUIDE-AIR F612616
24 1 PORTE F612617
25 1 FOND F612618
26 2 COTE F612619
27 1 DESSUS F612620
28 1 TAQUE F612621
29 1 DEFLECTEUR F612622
30 1 CHENET F612623
31 1 GRILLE-GAUCHE F612624
32 1 GRILLE-DROITE F612625
33 1,20m | JOINT TAQUE @8 mm Al303008
34 | 2,50 m | JOINT FACADE PORTE @8 mm Al303008
35 |1,60m |JOINT VITRAGE 7x3 Al010080

www.pieces-de-poele.com

Référence: P912644

Code 1

Page 6/ 18





